Answer on Question #43499, Engineering, Other

Expand the following Boolean functions into their canonical form:

i f(X,Y,Z)=XY+YZ+ X Z+ X Y
i, f(X,Y,2)=XY+ X Y + X YZ

Solution.
X y | z | Minterms | Notation
01O 0 Xy My
0[O0 1 o m
0 | 0 xyz my
0] 1 1 Xyz ns
1 0 0 x¥z my
I | O] 1 vz ms
| | 0 xyZz Mg
| | | Xyz ms

XY+YZ+X'Z+X'Y
=XYCZ+Z)+X+X)WZ+X Y +Y)Z+XY(Z+2Z)
=XYZ+XYZ +XYZ+X'YZ+XYZ+X'Y'Z+X'YZ
+X'YZ =XYZ+XYZ' +X'YZ+X'Y'Z+X'YZ
=my +my, +msy+mg+m,

Answer: XY +YZ + X'Z+ X'Y =m; + my, + mz + mg + m,

XY+XY+XYZ=XYZ+Z)+XYZ+Z)+X'YZ
= XYZ+XYZ +X'YZ+X'YZ' +X'YZ
=XYZ+XYZ +X'YZ+X'YZ =m, + ms +mg +m,

Answer: XY + X'Y + X'YZ = my, + mg + mg + m;,



